
QUIZ #5 : MATH 1200 SECTION B - MARCH 7, 2011

Show your work on the following problems. If you have any questions ask me.

(1) Assume an,0 = an,n = n+ 1 and for 0 < k < n, an,k = an−1,k−1 + an−1,k. Make a table of an,k for
0 ≤ n ≤ 3 and 0 ≤ k ≤ n.

(2) Compute for each 0 ≤ n ≤ 3 and 0 ≤ k ≤ n table of values of bn,k =
(

n
k−1

)
+

(
n
k

)
+
(

n
k+1

)
.

(3) Prove by induction that an,k = bn,k for all n ≥ 0 and 0 ≤ k ≤ n.

(4) Assume that c0 = 1 and for n ≥ 1, cn+1 = 3cn + (−2)n+1. Show that cn = (3n+1 − (−2)n+1)/5 for
n ≥ 0.
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